6 FE EEBERTCY YT FRRY OO LEREREE-EX (S S # 5)
o= w - Sil%2 .
mow R B8 | T wakE| mkE | AR TR | ok B " BEEZ | BKE | BEAR | MEAR
B | g B | ki) | KR
HKEAH R6.4.17 | R6.4.17 | R6.4.17 | R6.4.17 - - - - - R6.4.17 - -
=i - i i 0 0 - - - - - " - -
KE °c 18 18 19 18 - - - - - 20 - -
K c 16 1 i 15 - - - - - 1 - -
K& MPN/100mL <1 <1 <1 <1 - - - - - <1 - —
REIESFRE | 18/100mL 0 0 0 0 - — - - = 0 = -
oy FrREYSon| {E/10L - - 0 - — - — — — 0 — _
CTLTT {&/10L — - 0 — - — - — = 0 = -
pH - 6.4 6.7 6.8 6.6 - - - - - 6.9 - -
BE £ <t <1 <t <1 - - - - - <1 - -
LI B | @5 | @5 | @5 | @5 | - = = = — | @5 | - -
HKERH — - R6.5.27 - - R6.5.27 | R6.5.27 | R6.5.27 | R6.5.27 | R6.5.27 | R6.5.27 | R6.5.27
x& = = = 2 = = 2 B 2 ) 2 ) B
KR °c - - 25 - - 24 24 24 24 25 25 24
K c = - E - - 19 16 18 17 16 18 16
KEGHE MPN/100mL — - <1 - - <1 <1 <1 <1 <1 <1 <1
mEfEFRE | @00 - = 0 - = 0 0 0 0 0 0 0
sy T rRRYTHL| {E/10L = — - - - = - - - - - 0
STAS7 | B0 | - - - - - - = - = = = 0
pH - - - 6.8 - - 7.3 7.2 6.6 7.3 6.5 6.2 6.5
& 3 - - < - - X a X < < < <
B [ — — <0.5 — — <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5
Bk A B = — | Re618| - = = = = — [Re618| - =
Xk = = = ™ = = = = = = g = =
sR c - - 19 - - - - - = 19 = -
KR °c - - 15 - - - - - - 16 - -
XiBE  |WeN/toonl|  — - < - — - - - - < - -
WEfFRE | /00| - - 0 - = - - - = 0 = -
Yy TrRRYSHL| {E/10L - - - - - - - - - - - -
STAST | B | - - = - - - = - = = - -
o H - - - 6.8 - - - - - - 6.6 - -
EE E - - X - = - = - = < = -
LI E - - [ w5 | - - - - - — [ @5 | - =
BKERE R6.7.23 | R6.7.23 | R6.7.23 | R6.7.23 - - - - - R6. 7. 23 - =
X = % % % % = = = = - 0 = =
B °c 30 30 30 30 - - - - - 30 - -
KB c 19 1 19 21 - - - - = 17 = =
xEE  |weN/1oonl| < a < a - - - - - a - -
MEIEFEE |@/100] 0 0 0 0 - - - = = 0 = =
sy T rARY YLl E/10L — - 0 - - — - — - 0 - —
STAST | B0 | - - 0 - - - - - - 0 = =
P H - 6.5 6.7 6.7 6.7 - - - - - 6.9 - -
EE & X < X X - - - = = X = =
B [ <0.5 <0.5 <0.5 0.5 — — — - — 0.5 — -
Bk A B = — | Rmee2z| - — | R6.6.22 | R6.8.22 | R6.6.22 | R6.8.22 | R6.6.22 | R6.6.22 | RG.5.22
xf = = = i = = i 0 i 0 i 0 i
ET c - - 32 - - 3 33 ) 32 ) 32 3
Kig °c - - 21 - - 20 16 19 17 17 20 15
KBE WPntoon|  — - a - - a X a % a % a
REIESFRE | f8/100mL — - 0 - - 0 0 0 0 0 0 0
YT RRRYSSL {E/10L - - - - - - - - - - - —
STAS7 | B | - = = - - = = = = = = -
o H - - - 6.8 - - 72 | 12 | 64 | 12 | 66 | 61 6.6
B & - - < - - <l < <l < < < <
T E - - [ w5 | - — | 05 | @5 | @5 | w5 | 05 | 05 | <05
BKERE - — R6.9.19 - - — - — - R6.9.19 - =
X = = = % = = = = = - i - =
B °c - - 31 - - - - - - 31 - -
KR c - - 22 - - - - - - 17 - -
PN WPN/t0OmL|  — - < — - — - — - A - -
StESIE | @100 |  — - 0 - - - - - - 0 - -
YT rRRY TS L {E/10L - - - - - - - - - - - -
STAST | B | - - - - - - - - - - - -
P H - - - 6.9 - - - - - - 6.9 - -
X = - - 8 - - - - - - < - -
T E - — | s | - = = = - — s | - -




6 FHE EE&®RUTCSY2 U T FRKRY DO LERERERERE-E £ (K5 0 8)
Me = Rl g\ T =iTar SIE 2 o e
mow R B8 | T wakE| mkE | AR TRm | kR B P BEEZ | BKE | BEAR | MEAR
- (Kb ) i (Kb H) i
RKEAB R6.10.23 | R6.10.23 | R6.10.23 | R6.10.23 | R6.10. 23 - - - - R6.10. 23 - -
S — g £ £ g £ - - - - g - -
B °c 24 24 24 24 24 - - - - 24 - -
KB °c 16 16 21 15 20 - - - - 19 - -
K MPN/100mL 1 <1 < <1 < - - - - < - -
BREMESFRE | 18/100mL 0 0 0 0 0 - - - - 0 - -
oy FrREYSon| {E/10L - - 0 - — - — — — 0 — _
CSTILST {&/10L - - 0 - - - - - - 0 - -
pH - 6.4 6.6 6.9 6.6 6.4 - - - - 6.4 - -
BE £ <1 <1 <1 <1 <1 - - — - <1 — —
AE = <0.5 <0.5 <0.5 0.5 <0.5 - - - - 0.5 - -
®KEABR
XiE -
K[l °Cc
Kig °c
KGE MPN/100mL
BREMESFRE | 18/100mL
oy FrrRYSHL| {E/10L
CSTILTCT {&/10L
pH —
fE i3
B &
RKEAR
PSS -
KR °c
Kig °c
KGHE MPN/100mL
BREIESERE | 18/100mL
syFrREY YLl {E/10L
STILST {&@/10L
pH —
aE i 4
EE i 3
®KEAB
KiE -
KR °Cc
Kig °c
KGE MPN/100mL
BREMESFRE | 18/100mL
g T RREY YL {E/10L
CSTILTCT {&@/10L
pH -
aE i 4
A i3
HKEARR
Xz —
[UR °c
KR °c
KiGHE MPN/100mL
BREMESERE | f8/100mL
syFrRKYTHL| {E/10L
CSTILST {&/10L
pH -
aE i3
EE i 4
®KEAR
PN -
KR °c
Kig °c
K@ MPN/100mL
BREMESFRE | 18/100mL
oy FrREY S| {E/10L
CSTILTCT {&/10L
pH -
& &
A i3




#f6FE EE®RUVY Y T FRKRYSHO LERERE-ER(EF 8 5)

B E B B| B & EEEFIKIR SHEIKR | SHHEIKR BB KR AT SKIR KIFKIR AIALEKR | EE/IMEKIR

HKERAR R6.4.4 R6.4.4 R6. 4.4 - R6.4.4 R6.4.4 - R6.4.4
xfE - 8 [ 8 - g 8 - g
KR °c 12 13 13 - 1 1 - 12
KR °c 1 11 10 - 1 12 - 10

K& MPN/100mL <1 <1 <1 - <1 <1 - <1
REIESFRE | 18/100mL 0 0 0 - 0 0 - 0
sy T rRRYSHL {E/10L - - - - 0 0 - 0

CTLTT {&/10L - - — - 0 0 - 0
p H - 7.0 6.9 7.0 - 1.5 6.8 - 7.0
BE % <t i 4 - < i - 3
A & <0.5 0.5 i - <0.5 <0.5 — 0.6

HKERH R6.5.8 R6.5.8 R6.5.8 R6.5.8 R6.5.8 R6.5.8 R6.5.8 R6.5.8
KR °c 10 10 10 10 10 10 10 10
K*E °c 13 13 12 15 i i i 12

KB&E MPN/100mL <1 <1 <1 <1 <1 <1 <1 100
BRSMESFRE | E/100mL 0 0 0 0 0 0 0 10

oy FrrRYSHL| {E/10L - - - - - — — —

CTNTT f&/10L - - - - - - - -

pH - 7.0 6.8 6.8 6.5 1.5 6.7 6.7 7.0
BE B <1 <1 8 <1 <1 3 <1 5
EE E <0.5 <0.5 2 <0.5 0.5 0.5 0.5 1
BKERB R6.6.5 R6. 6.5 R6. 6.5 - R6. 6.5 R6.6.5 - R6.6.5
Kig = & & & - i i - i
[UR °c 20 20 20 - 20 20 - 21
KR °c 15 15 15 - 12 14 - 13
XaE MPN/100mL <1 <1 <1 - <1 <1 - 11
BSMESFRE | E/100mL 0 0 0 - 0 0 - 0
syFrREY YLl {E/10L 0 0 0 - - - - —
CSTILTCT {&/10L 0 0 0 - — — — —
pH - 6.9 7.0 6.7 - 1.5 6.7 - 7.2
BE E <1 <1 8 - <1 2 - 1
AEE B 0.5 0.5 2 - 0.5 <0.5 - <0.5
BKEAR R6.7.2 R6.7.2 R6.7.2 - R6.7.2 R6.7.2 — R6.7.2
Kz = il 5l il = il M = M
KR °c 24 23 23 - 24 24 — 24
KR °c 18 16 18 - 13 15 - 17
K& MPN/100mL <1 <1 2 - <1 <1 — 27
BRRIESFRE | E/100mL 0 0 0 - 0 0 - 0
g T RREY YL {E/10L - - - - 0 0 — 0
CSTILDT {&@/10L - - - - 0 0 - 0
pH - 6.8 7.0 6.7 - 7.4 6.7 — 7.0
BE ::4 <1 <1 6 - <1 2 - 3
EE E <0.5 <0.5 1 - 0.5 0.5 — 0.6
BKERB R6.8.6 R6. 8. 6 R6. 8.6 R6. 8. 6 R6. 8.6 R6. 8. 6 R6. 8.6 R6. 8. 6
S - i i [ i & i i i
[UR °c 31 31 31 30 30 30 30 31
Kig °c 22 19 21 23 12 17 14 20
AaE MPN/100mL <1 <1 <1 <1 <1 <1 <1 6
BEIESFRE | E/100mL 0 0 0 0 0 0 0 0

syFrRKYTHL| {E/10L - - - — - - - -

STLST | @/10L - — - _ — _ = —

pH = 6.8 6.8 6.7 6.3 1.3 6.7 6.7 7.1
BE E <1 <1 5 <1 <1 1 <1 2
EE 4 <0.5 <0.5 1 <0.5 <0.5 <0.5 <0.5 <0.5
HKERH R6.9.3 R6.9.3 R6.9.3 - R6.9.3 R6.9.3 - R6.9.3
ES - il i il - i i - i
R c 28 27 27 - 28 28 - 28
Kim °c 23 21 23 - 13 18 = 19
K& MPN/100mL 3 <1 <1 - <1 <1 - 20
REMESFRE | 18/100mL 0 0 0 - 0 0 - 0
YT rRRY TS L {E/10L 0 0 0 - - - - -
CTLTT {&/10L 0 0 0 - - - - -
pH - 6.7 6.8 6.7 - 1.3 6.7 - 7.0
BE |3 <1 <1 5 - <1 1 - 2
A =3 <0.5 <0.5 0.9 — <0.5 <0.5 — <0.5




#f6FE EE®RUVY Y T FRKRYSHO LERERE-ER(EF 8 5)

B E B B| B & EEEFIKIR SHEIKR | SHHEIKR BB KR AT SKIR KIFKIR AIALEKR | EE/IMEKIR

BKEARR R6.10. 1 R6.10.1 R6.10.1 - R6.10.1 R6.10.1 — R6.10. 1
ES - & BE & - i & - &
KR °c 29 29 29 - 29 29 — 29
KR °c 21 21 22 - 12 17 — 18

NI MPN/100mL <1 <1 <1 - <1 <1 — 9
REIESFRE | E/100mL 0 0 0 - 0 0 — 0
oy FrREYSon| {E/10L - - — - 0 0 — 0

CSTILTCT {&/10L - - - - 0 0 — 0
pH - 6.8 6.9 6.8 - 7.4 6.8 — 7.0
BE 3 <1 <1 3 - <1 1 — 1
AE B <0.5 <0.5 0.5 — 0.5 <0.5 - <0.5

BKERB
K& =
K[l °Cc
Kig °c

KB&E MPN/100mL

MR | f8/100mL

oy FrrRYSHL| {E/10L

CTNTT f&/10L

pH -

BE

R |

AE
H®KERH

ESE -

= °
KR C

K °Cc

K& MPN/100mL

BEMEFRE | E/100mL

syFrREY YLl {E/10L

CTINTT {&/10L

pH -

BE

o | Wt

EE

HRKFERAH

ES -

KR °Cc

KR °Cc

K& MPN/100mL

BREMESFHE | f8/100mL

sy FrRRYTHL| {E/10L

CTNTT {&/10L

pH -

BE

R | R

AE

HKEAH

S -

[UR °c

Kig °Cc

K& MPN/100mL

REIESFRE | f8/100mL

syFrRKYTHL| {E/10L

STILDT {&/10L

pH -

BE E

A 4
BKERB

ES =

KR °c

KR °Cc

K& MPN/100mL

BREMESFREE | fE/100mL

gy FrrRYSHL| {E@/10L

CTLTT {&/10L

pH -

BE

R | Rt

AE




SMeFE EE® XTI YT FRKRY DY LEREERERR-Ex (s 8 8)
®E B B| B FELKIR IS KIR FHNMAKIR AR KR
#kFERR - - - -
Kz - - - - -
KE °c - - - -
KR °Cc - - — —
K& MPN/100mL - — _ _
REMESFRE | 18/100mL — — — —
5UFrRKYSHL| E/10L - - - —
STLCT | @/ - B - -
pH - - - - -
BE B - - - -
A B — — — —
HKERH — — — —
Kix - - - - -
b °c - - - -
KiE °c - - - —
KiEE MPN/100mL - — — —
REMESFRE | /8/100mL - - - -
5T RRYSHL| E/100 - - - -
STLCT | @/ - - - -
pH - - - - -
BE B - - - -
A B — — — —
HKERH R6. 6. 25 R6. 6. 25 R6. 6. 25 R6. 6. 25
*fE - ) g ) B

KR °c 30. 6 30.7 21.2 29.3
Kig °c 14.5 18.2 16.6 17.5
K& MPN/100mL <1 111 291 <1
BEMEFRE | E/100mL 0 0 0 0
yyYTrRRYCHL| {E/10L - — - -
CTILDT {&/10L - — - -
p H — 7.0 6.4 7.0 6.7
BE |3 0.5 11 1.9 <0.5
A |3 <0.1 1.2 1.4 <0. 1
HRKFERAH — — — —
Kig - - - - -
b °c - - - -
KB °c — - - —
PNl MPN/100mL - — — _
BREIMESFRE | 18/100mL - - — -
sy FraRY L) {E/10L - - - -
CTLLT f8/10L - — - —
pH - - - - -
BE E - - - -
A E — — — —
HKERH — - — —
Kix - - - - -
Rim °c - - - -
Kim °c - - - —
PN MPN/100mL — - - —
BEMESFRE | E/100mL — - — -
sy FrrKYSHual {E8/10L — - — -
CSTILDT {&/10L — — _ _
pH - - - - -
BE E - - - -
A E — — — —
HRKEAR R6.9. 11 R6.9. 11 R6.9. 11 R6.9. 11
Xig - & il il il
R °c 21.3 28.1 26.2 29.4
Kig °c 17.8 22.3 18.2 18.0
K& MPN/100mL 11 6 91 <1
REIESFRE | f8/100mL 0 0 1 0
sy FrRRY YL {E/10L 0 0 0 -
CTNTT {&/10L 0 0 0 -
pH - 7.0 6.5 1.2 6.8
BE |3 <0.5 1.6 1. <0.5
A |3 <0. 1 0.2 1.1 <0. 1




SMeEE EEBA RV YU T FPRARY DY LK BEEEHEER-EX (F & # 8 )
% & 13 B| B TENLKIR 15 & KR BHINEKIR AR KGR
HKEAH — _ — —
ES - - — _ _
[l °c - —_ _ _
IKiE °c - — _ —
PN MPN/100mL — — —_ —
BRSMEFRE | E/100mL - —_ _ —
yyFRRRY YL {E/10L - — _ _
STILDT {&/10L — - —_ —
pH - - - - -
BE B - - — —
EE B — - _ _
BKERB
Kig =
K[l °c
Kig °Cc
NI MPN/100mL
BSMFRE | E/100mL
syYFrREYSHL| {E/10L
CSTILTCT {&/10L
pH -
BE B
EE =3
BKERB
Kig =
K[l °c
Kik °Cc
K& MPN/100mL
BSMESFRE | E/100mL
gy FrrRY 9L {@/10L
CSTILTCT {&/10L
pH -
BE E
AR B
BKERB
S =
KR °c
Kik °Cc
K& MPN/100mL
BSMESFRE | E/100mL
gy FrrRY L {E@/10L
CSTILTCT {&/10L
pH -
BE B
EE =
BKERB
K& -
KR °c
Kig °Cc
NI MPN/100mL
BEIESFRE | E/100mL
gy FrRRY L {E@/10L
CSTILCT {&/10L
pH -
BE E
EE =
BKERB
K& -
KR °c
Kig °Cc
NI MPN/100mL
BRSIESFRE | E/100mL
YT rRBEY SHu| {E/10L
CTILCT {&/10L
pH =
BE B
EE B




SMeEE EBEHE RISV T FPZRAKY Doy LEREERE -EX (F & # 8 )
#w & B B B ZRKIR REFEKR BRKIR INEFKIR BA4KIR ZAKIR
BKERB - R6.4.8 - R6.4.8 - R6.4.8
Xig — - E - g - 3
KR °c - 20.5 - 18.0 - 19.5
KR °c — 16.9 - 12.8 - 14.8
KB MPN/100mL — <1 - <1 - <1
REIESFRE | E/100mL — 0 - 0 - 0
oy FrREYSon| {E/10L — — - - - -
CSTILTT {&/10L — — - - - -
pH - - 7.4 - 6.6 - 7.2
BE E3 — <1 - <1 - <1
AE =4 — <0.5 — <0.5 — <0.5
BKERB - R6.5.9 - R6.5.9 - R6.5.9
PSS - - 2 - £ - g
SR °c — 16.0 = 12.0 = 15.0
KiE °c - 15.7 - 13.2 - 15.3
KiEE MPN/100mL — <1 = <1 = <1
BRRIESFRE | E/100mL — 0 - 0 - 0
oy FrrRYSHL| {E/10L — — - - - -
CTILTT {&/10L — — - - - -
pH - — 6.8 - 1.2 = 7.3
BE B - <1 - 3 - <1
EE =3 — <0.5 — 0.8 — <0.5
BKERB R6. 6. 24 R6. 6. 24 R6.6.18 R6. 6. 24 R6.6.18 R6.6.18
e - ) B E E g g
[UR °c 29.0 31 25.0 26 23. 23.
KR °c 16.5 17 15.4 16.7 14.7 17.0
XaE MPN/100mL 50 4 <1 10 44 <1
BSMESFRE | E/100mL 5 0 0 0 0 0
syFrREY YLl {E/10L - 0 0 0 0 0
STILDT {&/10L — 0 0 0 0 0
pH — 1.5 1.3 6.9 6.7 7.6 7.1
BE B 5 <1 1 <1 <1 <1
AEE B 2 <0.5 <0.5 <0.5 <0.5 <0.5
BKERB - R6.7.4 - R6.7.4 - R6.7.4
Kz - — i - i = 5
SR °c — 31.0 - 30.5 - 31.0
KR °c - 18.8 - 21.3 - 18.0
PNl MPN/100mL — 2 - 4 - <1
BRRIESFRE | E/100mL - 0 - 0 - 0
g T RREY YL {E/10L — — - — -
CTILTT {&/10L — — - - - -
pH - — 7.4 - 7.2 - 7.1
BE 4 - <1 - 4 - <1
EE = — <0.5 — 0.8 — <0.5
HKEARR - R6.8. 1 - R6.8. 1 - R6.8. 1
S - — & - & - &
R °c - 34.0 - 32.0 - 30.0
KiE °c — 18.9 - 16.9 - 18.4
AaE MPN/100mL — 1 - 1 - 1
BEIESFRE | E/100mL — 0 - 0 - 0
syFrRKYTHL| {E/10L — — - - - -
CSTLDT {&/10L — — - - - —
pH - - 1.2 - 6.6 - 7.0
BE E - <1 - <1 - <1
AE 4 — <0.5 — <0.5 — <0.5
BKERB R6.9.9 R6.9.9 R6.9.19 R6.9.9 R6.9.19 R6.9.19
K& — i i i i i i
SR °c 30.0 34.0 32.0 28.0 30.5 29.5
KR °c 18.9 19.4 17.1 20.9 15.8 19.4
KiE MPN/100mL 290 <1 <1 5 84 <1
REIESFRE | E/100mL 0 0 0 0 15 0
gy FrrRYSYn| {@/10L 0 0 - 0 - 0
CTILTT {&/10L 0 0 - 0 - 0
pH - 1.3 1.2 7.0 1.2 1.5 6.9
BE B 1 <1 <1 2 1 <1
EE B <0.5 <0.5 <0.5 <0.5 0.7 <0.5




SMeEE EBEHE RISV T FPZRAKY Doy LEREERE -EX (F & # 8 )
#w & B B B ZRKIR REFEKR BRKIR INEFKIR BA4KIR F|RKIR
BKERB - R6.10.10 - R6.10.10 - R6.10.10
ER S - - £ - £ - £
KR °c — 21.0 - 19.5 - 22.0
KR °c — 17.5 - 15.1 - 17.1
KB MPN/100mL — <1 - <1 - <1
REIESFRE | E/100mL — 0 - 0 - 0
oy FrREYSon| {E/10L — — - - - —
CSTILTT {&/10L — — - - - -
pH - - 1.2 - 6.6 - 7.0
BE E3 — <1 - <1 - <1
AE =4 — <0.5 — <0.5 — <0.5
BKERB
K& -
K[l °Cc
Kig °c
KiEE MPN/100mL
BRRIESFRE | E/100mL
SYTrRRYSHL| {E/10L
CTILTT {&/10L
pH —
BE B
EE =3
BKERB
Kig —
[UR °c
Kig °c
PN L] MPN/100mL
BSMESFRE | E/100mL
syFrREY YLl {E/10L
CSTILTCT {&/10L
pH —
BE E
AEE |4
BKERB
Kz -
KR °Cc
Kig °Cc
PNl MPN/100mL
BRRIESFRE | E/100mL
g T RREY YL {E/10L
CTILTT {&/10L
pH -
BE 4
EE =
BKERB
S -
[UR °c
Kig °Cc
PN L] MPN/100mL
BEIESFRE | E/100mL
syFrRKYTHL| {E/10L
CSTILCT {&/10L
pH -
BE E
AE 4
BKERB
K& —
KR °c
Kig °Cc
KiE MPN/100mL
REIESFRE | E/100mL
oy FrREY S| {E/10L
CSTILTCT {&/10L
pH -
BE |3
EE =3




